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4.

Look at the following diagram that shows how chocolate shapes are
made using a plastic mould.

Step A

plasiic moulds

Step B

Place 200g of chocolate » Place the bowl of chocolate in

bars in a ceramic bowi.

/

\

Step D

Remove the chocolate
shapes from the mould
after 1 hour.

Eat one chocolate

shape to test for taste. /

-

the oven and switch it on.

\ 4
4 Sep A

« Remove the bowl from
the oven.

« Pour the chocolate into
the plastic moutd and

\ teave it untouched. /

Which ane of the following correctly describes what happens to the
chocolate during steps B, C and D?

Step B Step C Step D
(1) heat is lost héat is lost heat is gained
2) heat is gained heatis gaine'ad heat is lost _l
3) heat is lost heat is gained heat is gained
(4) heat is gained heat is lost heat is gained







7. Which of the following are functions of the nucleus in a cell 7

A Controls cell growth

B Repairs damaged cells

C Needed for cell division -

D It is where all the activities take place

(1) A and B only 2) C and D only
(%)) A, B and C only {4} A, C and D only
8. Piants in some greenhouses are exposed to light 24 hours a day white

plants that are grown in an open field are exposed to approximatety 10
hours of light each day.

Jason conducted an experiment using 2 pots of identical plants to find
out which plant would grow better over a period of {ime. He measured
the height of the plants:bvera period of 12 weeks. The plants were of
the same height af the start of the experiment.

Which one of the graphs below is likely to represent the growth of the
plants in both the greenhouse and the field?
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11.  Study the diagram below. c

During photosyathesis, A, B and C are needed and substances X and
Y are products of the process. Which oné of the following best
identifies what A, 8, C, X and Y could be?

A B C X Y
1. sugar water sunlight oxygen carbon
dioxide
(2)§] oxygen sunfight carbon sugar water
! dioxide
(3)] oxygen water | sunlight sugar carbon -
) ; dioxide
(4)1 water ‘carbon | sunlight | sugar oxygen
dioxide







i4. An experiment was conducted to measure the amount of time taken for
the temperature of 3 different materials to increase by 4 °C. The result

of the experment is shown below.

! Material Time taken to increase by 4°C (min)
: E 8

F 12

G 95

The materals were then used fto

create the following confainers. Haot

soup of the same temperature was poured into each container. Which
of the following set-ups will keep the soup warm as long as possible”?

(0

(3)

@ Nl \\\\\\\§
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X
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Irarar e s,
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16.

The diagram below shows the water cycle.

X and Y represent two processes that take place in the water cycle.
Based on the above diagram, which of the following statements are
false?

A Heat is gained during Y.

B X takes place at any temperature. .
C There is a change in state during X and Y.
(1) A only {2) C only
(3) B and C only {4) A,B and C
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Zechariah prepared the fallowing set-up to coliect fresh water from

i7.
pond water.
plastic
sheet
plastic
comtainer
ground P err e A ‘ )
support / 1 | support
PP pond water  fresh water PP
He placed the set-up in an open field on a sunny day. After a few
hours, he managed to collect some fresh water in the cup. What should
he do to the set-up in order to collect morg fresh water in the cup?
(1) He should use a bigger cup.
2 He should use a bigger pebble.
{3) He shoutd use a wider plastic container.
{4) He should use a glass container instead of a plastic container.
18. The diagram below shows a person holding an ic€ cube using a pair of

wooden chopsticks

wooden
chopsticks

ice cube

Which one of the following describes the force(s) acting oa the ice
cube?

1) gravitational force only

2) pulling force and elastic force

3) frictional force and gravitationat force

4) push force, frictional force and gravitational force

11



19.

Study the following diagrams carefully.

Magnets B and C are moved towards magnet A at the same time.

Magnet B

= N s <

Magnet A} . -

Magnet C

VWhich one of the following represents how magnet A will move?

(1) 2)

=

L3 @

et bt a4 s

12






21.

Study the following electrical circuits carefufly.

A
Ooff
1=
On
B
Off
On
C
Off
On

in which of the following circuits would the bulb light up?

(1) B only (2) A and B only
{3) B and C only (4) None of the circuits

14






Hamzah set up the electrical circuit as shown below.

Nl

W « L1 L2
F———@ L ® & ® ®_
L3
-
Y L4
e e @—

Hamzah then placed rods, Q, R and S, of unknown materials in
positions W, X and Y. When any of the lamps, [.1, £2, L3 and L4, lit up
during the experiment, a {(¥) was placed in the box shown in the table

below.
position where rods were placed observation of lamps
position W | position X | position Y L1 L2 L3, L4
Q S R v
S R Q v v v
R Q S v v v

Based on the information given above, which of the following
statement(s) isfare correct?

A
B

C

(1)
@)

Rod Q is definitely made from rubber.

if 3 rod S are placed in all of the positions, W, X and Y, all the

lamps wilt light up. )

If 3 rod R are placed in all of the positions, W, X and Y, all th
Nfamps will light up. :

B only
8 and C only

A only _ (2)
A and C only (4}

16







26.

27.

Which of the following is a renewable source of energy?

A Coal

B Wind

c Fossil fuel

D Running water
(1) 8 only (2) A and B only
{3) B and D only (4) B, C and D only

The diagram below shows a ball which was released from a table top
and aflowed to bounce on the floor until it comes {0 a complete stop.

—

Q,

C g

0

(1)

(3)

"Which one of the following graphs comectly shows the change in totai
amount of gravitational potential energy (GPE) and kinetic energy
(KE)?

(2)
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28.

Study thie diagram below. When the rope was cut with a pair of
scissors, a wooden weight was released to hammer the object into the

ground as shown.

rope

wooden ]

weight

SCissors

object

ground

Which oi’ the foilowing changes can be made to enable Michael to
hammer the object deeper into the ground?

A Make the cut niearer to the wooden weight

B Release the wooden weight from a greater height

C Use a bigger wooden weight that has a farger mass -

D Replace the wodden weight with an iron weight of the same mass
1) Aand Conly : 2) A and D only

3) B and C only. 4) A, C and D only

19



29.  The diagram below shows a foy known as the straw helicopter. By
rubbing the straw, the toy wilt fly upwards.

straw
heticopter

Which of the following correctly shows the energy conversion as a
person release the toy into the air?

M

Person spinning the foy

Toy rising up into the air

Gravitational

g:]";_t'c > é;r;ert{c + Potential
ay 9y Energy
e Gravitational
Ei‘;fr > ggnc > Potential
gy aqy Energy
Chemical N . Gravitational
Potential - g;?efiuc - g ::;ertlc -> Potential
Energy 9y 9y Energy
Chemical s o s Gravitafional
Potentisl > Lo | E(::itic . Potential
Energy -(ergy. gy Energy

20
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32.

A beaker of ice was heated for 30 minutes. The graph below shc.
how the temperature of the contents in the beaker changes over time

temperature (°C)

L i | i H
! 1 i i T

0 5 10 15 20 25 30 35

W

|
{
time {mins)

{a) Complete the table below by identifying the fime duration and the
contents inside the beaker correctly. [1m]

Tirme duration - i Contents in the beaker

ice and water

10 to 20 mins

{b} Describe what happened between points S and T. [1en]

24






Tommy set up 5 similar sets of experiment as shown in the diagram

34.
beiow.
test tube
torchiight A
— : / beaker
PR 5 - water
d B

. ] a o+ hydrilla

L ]

He varied the distance d for each set up and recorded the height h for
each sefip after 2 hours. The table below shows the results of his

experiment,

[ set-up A B C D E
d {cm) 10 20 30 40 50
h (cm) 4 4 3 2 1

(a) The experiment was conducted in a dimly lit .foom. Suggest a
reason why this is important for the experiment? (im]

() Are theresults of the experiment reliable? Explain your answer.
. {im]

26






36. June set up an experiment to find out how the matedal of a container
affects the time taken for the water in the container to reach boiling

oint,
P thermometer

200ml of water
confainer ———

|~ bunsen
burner

Three containers made from different materials, X, Y and Z, were used
for the experiment. The results are shown below.

Container X Container Y ContainerZ |

I
i
|

| Time taken for
! watertoreach 16 ‘ 8 12 -
i boifing point (min) | :

June decided to use one of the materials to make the sleeve for a
coffee mug as shown below.

coffee mug e
sieeve

(a) Which matedal, X, Y or Z, is the best choice for making the sleeve?
. Explain your choice. ' {1m]

(b) Explain why the coffee in the mug becomes cold after same time.
{tm]
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38. The diagram befow shows a model of a boat.

string inflated balloan

lightweight plastic boat

plastic straw
£/
5

(a) When the model boat was placed on water and the string at the
opening was pulled to release the knot, what caused the ‘boat to
move? [1m]

(b} Using the same sefup, what can be done to make the model boat
move at a greater speed? . o [1mi

{c) What causes the model boat to stop moving after some .timé? {1m]

30






40. The diagram below shows a flashlight. The bulb lights up when the
switch is pushed to the right.

spring switch

metal strip

\ filament

(a) Explain why the bulb lights up when the .switch is pushed to the
right? [1m]

(b) Explain why the spring is not made of plastic. [1m]

(c) Using symbols, draw only-the arangement of-the.battedes shown
inthe-flashlight in the.space provided below. (1m]
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42. The diagram shows 2 toy car going through a foop of a race track.

toy car

race frack

(a) Describe the energy conversion as the toy car moves from point A
to point B. - {1m]

(b) In the diagram above, mark a point in thie loop with the letter "X
where kinetic energy of the toy car is the least. [(1m]







44.

George bought a rubber band-propelled plane as shown in the diagram
betow. He had o rotate the blade before releasing it in order for the
plane to move forward. The plane is able to reach a distance of 10
metres when ailowed to move on the ground.

blade

rubber band

(a) Describe the energy conversion that took place when George
released the plane fo the moment the plane was moving on the
ground. . (1m]

(b) Explain why the aeroplane-come {o stopieventually. [1m]

{c) Using only a measuring tape and a marker, describe an experiment
that George could set up to find out the relationship between the
nuriber of turishe bladeis. wound .and -the:distance dravéled by

the-plage. . . (2m]
Step 1 Place the'n.leasuring tape-on.the ground.
Step 2
Step 3
~End of Paper
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Exam Paper 2014 Answer Sheet

School: NANYANG PRIMARY SCHOOL
Subject: PRIMARY 6 SCIENCE

Term: CA1
) 1 6) 4 11) 4 16) 1 21 2 26) 3
2) 3 7) 3 12) 4 17) 3 22) 3 27) 3
3) 2 8 3 13) 4 18) 4 23) 3 28) 3
4) 4 9) 4 14) 4 19) 4 24) 4 29) 3
5) 2 10) 3 15) 3 20) 2 25) 3 30) 1

31. (@) i. Use an equal amount of oil.
“ii. Use the same type of water.
(b) Setup A will have less water left than set-up B.

32. (a) 0 to 10 min; water and water vapour
{b) The water boiled.

33. (a) Chiloroplasts
(b) It traps sunlight for the plant cell to make food.
(c) ltis to give the plant cell a regular shape.
(d) Leaves of a plant.

34. (a) So that the torchlight is the main source of light which affects the results.
(b) No. He did not repeat the experiment for at least three times.

35. (a) 0°. When there are no batteries, the steel rod would not even become an
electromagnet and would not attract the paper clip.
(b) i. Wrap more coils of wire around the steel rod.
ii. Move the electromagnet higher:

36. (a) Material X. It does not conduct heat as well as the other materials so the
person holding the riiug would not be scaled.
(b) it loses heat {o the mug and the surroundings.

37. (a) The mirror at D should be placed at E.
(b) i. Light fravels in a straight line.
ii. Light can be reflected.

38. {(a) The air in the balloon rushed out of the straw, pushing the boat through the
wafer. | '

(b)-Increase the ameunt of:air in the balloon.

(c) Friction betweenthe boat-and the water.

39. (a). Elastic spring force.
(b). It was measured by seeing the order of which the elastic band broke. The first
one to break is the weakest, while the last one to break is the strongest.
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